3. MiS0lidt =2

20144 EZE(%)
T Po1oEE g = x5 B SES=ETRE
A 4,558,880 HiE 3,996,544 HiE 4,312,922 HIg 14.1 5.7
PSIES BPN 3,967,294  87.0 3,428,191 858 3,725,985 864 15.7 6.5
HY2HLH| 343,614 75 328,230 8.2 325,451 75 47 56
ol gl -odu] 338,869 7.4 317,964 80 318,095 7.4 6.6 6.5
7] 2 7 v 4745 0.1 10266 0.3 7,356 0.2 A53.8 A355
M e es 247972 54 240,123, 6.0 261,486 6.1 33 A5.2
O duhs|A (2491 - 9 Brel %)
20144 = SZLE(%)
T & 2015 =
g = z & SES= ETRE
| 4,034,000 Hi& 3,521,100 Hi= 3,755,533| HIE 14.6 74
PSIES PN 3,581,627 8838 3,109,265  88.3 3,325,612 886 15.2 7.7
HY2HLH| 338,018 8.4 322,677 92 319,950 85 48 56
QTR 333,666 8.3 312,818 89 312,949 8.3 6.7 6.6
7] 2 7 A 4352 0.1 9859 03 7,001 0.2 A559 A37.8
N s s 114,355 2.8 89,158 25 109,971 29 28.3 4.0
O S (213 ot %)
20144 = SZE(%)
T 2 2015 =
g = z B SES= ETRE
A 524,880 HIE 475444 HI8 557,389 HIg 10.4 A58
g A 385,667 735 318,926  67.1 400,373 718 20.9 A37
HY2ALH| 5,596 1.1 5,553 1.2 5,501 1.0 08 1.7
QTR 5203 1.0 5146 1.1 5,146 0.9 1.1 1.1
7] 2 7 A 393 041 407 041 355 0.1 A34 107
NS 133,617 25 150,965 29 151,515 29 A115 A11.8




3. MiS0lidt =2

2) 7|58 MIEo &t

(2hel: oigl)
14,000 12,667 .
12,000 02014 = B2015EH=
10,000
8,000
5,429 6,094
6,000 4,493
3,678 3,436
4,000 2 862
1 ,695 1.858
, 1,499
2,000 |_|_| T 780 NRES
B - | !
AUBZ ZITIN DS SEHY BHES AEEx 24 =3 A 252 e BEUis sy JlE
dx 2okl it sokaat Za7l9 mE KA
[ 7] XMAAE ]
(chel - ofel, %
T = 20140 A 20150 A S 72t s4s
A 30,965 45,588 5,623 14.1
1. YutZ A 4,624 5,429 805 17.4
o ZIAAM YN 1348 1,605 347 257
3. 1S 1873 1,858 A 15 A08
4, 252y 3,584 6,004 2510 70.0
5 3AES 3,561 3,678 17 33
6. AbS|2X| 11,274 12,667 1393 12.4
7. 57 515 621 106 206
8. =25 kLAt 4,584 4,493 A 91 220
9. M- Z AT 741 780 39 53
10. +42WE 1416 1,409 83 5.9
11, 2EQX A7) 2,738 2,862 124 45
12, 3tsto| & 22 23 1 45
13. oft|] 403 453 50 12.4
14. 7|E} 3,282 3,436 154 47
% 201495, 20159 % Pxdal 7139



(Tl : sHotbel %

o 20144 S2E(%)
T 20156 % o = 3 = TR
A 4558880 HIE 3,096,544 HIE 4312922 HIZ 14.1 5.7
AUBtS M 542,906 11.9 462,370 11.6 | 581,894 135 17.4 6.7
ol A 7 5,512 0.1 18,573 05 14,294 0.3 A70.3 A61.4
A kA A - A A 2] 2 456,358 10.0 388,763 9.7 500,873 11.6 174 289
ANA -2 - - 615 0.0 615 00| A1000 2100.0
RS S| 81,036 1.8 54,419 14 66,112 15 48.9 22.6
e L 169,534 3.7 134,817 34 165,758 3.8 25.8 2.3
- Ak A W k) 169,534 3.7 134,817 34 165,758 3.8 25.8 2.3
hmE= 185,817 4.1 187,340 47 192,548 45 0.8 A35
Cfold xET S 173,413 3.8 175,049 4.4 179,915 4.2 0.9 A3.6
TS 12,404 0.3 12,291 0.3 12,633 0.3 0.9 A1.8
2512 609,394 134 358,402 9.0 | 382,487 8.9 70.0 59.3
2alea 38,032 0.8 32,636 0.8 37,529 0.9 16.5 1.3
o34 58,430 1.3 43,987 1.1 53,758 1.2 32.8 8.7
A5 482,478 10.6 256,282 6.4 263,248 6.1 88.3 83.3
73517 30,454 0.7 25,497 0.6 27,952 06 19.4 9.0
B4ES 367,814 8.1 356,095 8.9 361,464 8.4 3.3 18
A e ] 327,242 7.2 288,185 7.2 288,307 6.7 13.6 135
7= 13,015 0.3 28,660 0.7 31,263 0.7 A54.6 A58.4
-7 259 0.0 289 0.0 289 0.0 A10.4 A10.4
- 2] 11,956 0.3 10,143 0.3 10,633 0.2 17.9 124
e 3,464 0.1 5679 0.1 5,679 0.1 A39.0 A39.0
C B AR ST YN 11,878 0.3 23,139 0.6 25,293 06 A48.7 A53.0
NN 1,266,698  27.8 1,127,367 28.2 | 1,140,097 26.4 124 1.1
E At R 389,537 8.5 418,023 105 413,577 96 A6.8 A5.8
CFHFAFAYD 110,996 24 88,369 2.2 93,532 2.2 25.6 18.7
LRSS TED A 260,578 5.7 272,455 6.8 278,668 6.5 Ad4 AB.5
R BN | 433,446 95 316,337 7.9 321,281 74 37.0 34.9
S 13,962 0.3 14,286 0.4 15,958 0.4 A2.3 A125
CHE 636 0.0 592 0.0 695 0.0 74 A8.5
- 41,904 0.9 - - 306 0.0 0.0 13,594
RN e e Ll 15,639 0.3 17,305 0.4 16,080 04 796 A27
27 62,127 1.4 51,468 1.3 | 62,291 14 20.7 A0.3
SR 59,319 1.3 49,320 1.2 60,571 14 20.3 A2.1
- Aol okt 2,808 0.1 2,148 0.1 1,720 0.0 30.7 63.3
SElsl kAt 449,309 9.9 458,442 115 510,563 11.8 2.0 A12.0
CEYsE 270,591 5.9 272,989 6.8 322,210 75 0.9 A16.0
e RN = 134,032 2.9 139,997 35 139,634 3.2 A43 A4.0
- & Ak o] = 44,686 1.0 45,456 1.1 48,719 1.1 A7 8.3
el =47 77,981 1.7 74,093 19 91,876 2.1 5.2 A15.1
A E A 13,659 0.3 13,219 0.3 14,898 0.3 3.3 8.3
S 7 A9 4,637 0.1 5216 0.1 5,987 0.1 A11.1 A22.5
SO E e 5 2,184 0.0 2,304 0.1 3,271 0.1 A5.2 A33.2
S AAA T 1 F} 45,808 1.0 43,889 1.1 52,738 1.2 44 A13.1
S RE R IR PRt 11,693 0.3 9,465 0.2 14,982 0.3 23.5 A22.0
49 NE 149,889 3.3 141,646 35 178,381 4.1 5.8 A16.0
CER 135,906 3.0 129,752 3.2 164,229 3.8 47 A17.2
I = ) o 13,983 0.3 11,894 0.3 14,152 0.3 176 A1.2
= E QX[ 286,198 6.3 273,778 6.9 293,833 6.8 45 A2.6
2219 107,481 24 114,146 2.9 105,875 2.5 A5.8 15
2] o2 1 A 178,717 3.9 159,632 4.0 187,958 4.4 12.0 A49
sty & 2,259 0.0 2,185 01 2,347 0.1 3.4 A37
R A 2,259 0.0 2,185 0.1 2,347 0.1 3.4 A3.7
CIEIEL 45,340 1.0 40,311 1.0 23,924 06 125 89.5
7|E} 343,614 7.5 328,230 8.2 325,459 75 47 5.6




A HHE| A

(Tl : sHotbel %
o 20144 S2E(%)

T 20156 % o = 3 = TR
A 4,034,000 HIE 3,521,100 HIE 3,755,534 HIS 14.6 7.4
AUBtS M 272,832 6.8 233,527 6.6 273,219 7.3 16.8 A0.1
- ol A 7 5,512 0.1 18,573 05 14,294 0.4 A70.3 A61.4
A kA A - A A 2] 2 186,284 46 159,920 45 192,198 5.1 16.5 A3.1
ANA -2 - 615 0.0 615 00| A1000 2100.0
RS S| 81,036 2.0 54,419 15 66,112 18 48.9 22.6
e I 169,534 4.2 134,817 38 165,758 44 25.8 2.3
- Ak kg = 169,534 4.2 134,817 3.8 165,758 4.4 25.8 2.3
s 162,883 4.0 169,461 4.8 173,045 46 A3.9 A5.9
Cfold xET S 154,777 38 161,462 4.6 165,116 4.4 Ad1 6.3
TS 8,106 0.2 7,999 0.2 7,929 0.2 1.3 22
25122 609,394 15.1 358,402 10.2 | 382,487 10.2 70.0 59.3
2l 38,032 0.9 32,636 0.9 37,529 1.0 16.5 13
o34 58,430 14 43,987 1.2 53,758 14 32.8 8.7
A5 482,478 12.0 256,282 7.3 263,248 7.0 88.3 83.3
F5h A - -5 gl -4 30,454 0.8 25,497 0.7 27,952 0.7 19.4 9.0
B4ES 367,814 9.1 356,095 10.1 | 361,464 9.6 3.3 1.8
B R ] 327,242 8.1 288,185 8.2 288,307 7.7 13.6 135
7= 13,015 0.3 28,660 0.8 31,263 0.8 A54.6 A58.4
-7 259 0.0 289 0.0 289 0.0 A10.4 A10.4
- 2] 11,956 0.3 10,143 0.3 10,633 0.3 17.9 124
3 ok 3,464 0.1 5679 0.2 5,679 0.2 A39.0 A39.0
C B AR T 11,878 0.3 23,139 0.7 25,293 0.7 A48.7 A53.0
Abs| 2 X 1,040,422 258 904,198 25.7 916,388 244 15.1 135
E Stk 163,261 40 194,854 55 189,868 5.1 A16.2 A14.0
CFHFAFAYD 110,996 2.8 88,369 25 93,532 25 25.6 18.7
LRSS TED A 260,578 6.5 272,455 7.7 278,668 74 Add AB5
Cxol-g ey 433,446 10.7 316,337 9.0 321,281 8.6 37.0 34.9
S 13,962 0.3 14,286 0.4 15,958 0.4 A2.3 A125
CHE 636 0.0 592 0.0 695 0.0 74 A8.5
- 41,904 1.0 - - 306 0.0 0.0 13,594
R e e Ll 15,639 0.4 17,305 0.5 16,080 04 796 A27
27 62,127 15 51,468 15| 62,291 17 20.7 A0.3
SRS 59,319 15 49,320 14 60,571 16 20.3 A2.1
e gl 2,808 0.1 2,148 0.1 1,720 0.0 30.7 63.3
S22k At 449,309 11.1 458,442 13.0 | 510,563 136 A2.0 A12.0
CEYsE 270,591 6.7 272,989 7.8 322,210 8.6 0.9 A16.0
e RN = 134,032 3.3 139,997 4.0 139,634 3.7 A43 A4.0
- &l Ak o] = 44,686 1.1 45,456 1.3 48,719 1.3 A7 8.3
gl are 77,981 1.9 74,093 21 91,876 2.4 5.2 A15.1
A E A 13,659 0.3 13,219 0.4 14,898 0.4 3.3 8.3
S 7 A9 4,637 0.1 5216 0.1 5,987 0.2 A11.1 A22.5
SO E e 5 2,184 0.1 2,304 0.1 3,271 0.1 A5.2 A33.2
S AAA T 1 F} 45,808 1.1 43,889 12 52,738 14 44 A13.1
S RE R IR PR 11,693 0.3 9,465 0.3 14,982 0.4 23.5 A22.0
59 WE 149,889 3.7 141,646 4.0 | 178,381 47 5.8 A16.0
CER 135,906 3.4 129,752 3.7 164,229 44 47 A17.2
IR =) o 13,983 0.3 11,894 0.3 14,152 0.4 176 A1.2
= EQIX[d7) gt 286,198 7.1 273,778 78| 293,833 7.8 45 A2.6
A E 107,481 2.7 114,146 3.2 105,875 2.8 A5.8 15
B R IR R B 178,717 4.4 159,632 45 187,958 5.0 12.0 A49
sty & 2,259 0.1 2,185 01 2,347 0.1 34 A37
R SR A 2,259 0.1 2,185 0.1 2,347 0.1 3.4 A3.7
CIEIEL 45,340 1.1 40,311 1.1 23,924 06 125 89.5
7| E} 338,018 8.4 322,677 9.2 319,958 8.5 4.8 5.6




SHIACIEHSIIY)

T 20151 5= g = e z B %ifﬂ?%;ﬁ’%m“l

A 524,880  HI= 475444  HIE 557,388 HI= 10.4 A58
otz Z A 270,074 51.5 228,843 48.1 ‘ 308,675 55.4 18.0 A12.5
- AA A A A 270,074 51.5 228,843 48.1 308,675 55.4 18.0 A12.5
= 22,934 44 17,879 3.8 ‘ 19,503 815 28.3 17.6
ol =55 S 18,636 3.6 13,587 29 14,799 2.7 37.2 259
ale S 4,298 0.8 4,292 0.9 4,704 0.8 0.1 A8.6
Atz S K| 226,276 43.1 223,169 46.9 ‘ 223,709 40.1 14 1.1
2SR 226,276 43.1 223,169 46.9 223,709 40.1 14 1.1
7| et 5,596 1.1 5,553 1.2 ‘ 5,501 1.0 0.8 1.7

Q 7|EFSEH 3| A (3)

WS 4,298 TEA(44.6%), 71EF 5,333 7H1(55.4%)
CARS| B A RE (7 2AAZ R ) 226,276 7D (99.97%), 71EF 64 WF1(0.03%)
S/ A

olH X F 5 uS 18,6367+ (100%)

- AGAR N TR ANFFAH /AN AZAY 466,015 (100%)



3. MiS0lidt =2

3) 8

20,000

15,000

10,000

5,000

2E M=o 4t
19,672 el of8l)
15.991 020132 E
1 O2014E=
2,704
; 2,424
1,266 1,407 15969
1565
— —=" [T — ]
pakall =21H| daold At2X & SAHEAL 2N =7l oile[B]S 7] Et
ZHE M= ]
(Ehel s A2l %)
T2 20141 0f| ot 2015 0f &k Z2 zug

Al 39,965 45,588 5,623 141
100 ¢lzdH| 2,571 2,704 133 5.2
200 =44| 1,218 1,266 48 39
300 Z 4ol 14,400 15,991 1,591 11.0
400 At2X|E 16,658 19,672 3,014 18.1
500 A &AL 562 155 A 407 AT24
600 2 A 2 1,414 1,407 AT A 05
700 WAz 2,373 2,424 51 2.1
800 oi|B|H| 7| E} 769 1,969 1,200 156.0

# 20149 %, 201569 % Fxdit 7149



3. M=olat =2

Of

ZH U+ E)

=2\=2 =

(EHel - uHabel %

Lq = =72 (o
2 = 2015 = 5= 201ee i = SErjul Ezé.;th
Al 4558880 HlE 3996544 HIg 4312923 HIE 14.1 5.7
100 2lZiH| 270,359 5.9 257,154 6.4 253,945 5.9 5.1 6.5
101 914w 270,359 5.9 257,154 6.4 253,945 59 5.1 6.5
200 S744| 126,614 2.8 121,779 3.0 130,678 3.0 4.0 A3.1
201 LukL-odH| 75,011 1.6 70,788 1.8 77,605 1.8 6.0 A33
202 oy 12,111 03 11,881 0.3 12,019 03 1.9 08
203 570 3,245 0.1 3,265 0.1 3,271 0.1 A0.6 A0.8
204 A5 7| 16,388 04 16,224 0.4 15,986 0.4 1.0 25
205 ©] 3] 3,407 0.1 3,549 0.1 3,349 0.1 A40 17
206 A 51 8,117 0.2 8,915 0.2 9,990 0.2 A9.0 A18.7
207 A7) 8,335 0.2 7,157 0.2 8,458 0.2 16.5 Al5
300 ZAto| X 1,599,097 351 1,440,026 36.0 1,511,930 | 351 11.0 58
301 JutR A 18,167 0.4 17,387 0.4 17,084 0.4 45 6.3
303 A 13,689 03 13,822 0.3 13,641 03 A10 0.4
304 A FHas 47,779 1.0 45,837 1.1 46,345 1.1 42 3.1
305 w5 - - - -
306 AT 16,615 0.4 15,709 0.4 22,944 05 58 A276
307 ¥17ro] A 110,525 2.4 95,834 2.4 105,915 25 15.3 44
308 2} e S0 A 1,368,565 30.0 1,225,691 307 1279904 297 1.7 6.9
309 B719A =S 4 0.0 2 0.0 2 0.0 -
310 = &Jo] 485 0.0 1,640 0.0 1,802 0.0 AT04 AT3.1
311 =} o] Ap4kst 23,268 05 24,104 0.6 24,293 06 A35 A42
400 AHEX| = 1,967,193 432 1,665,774 417 1,799,959 | 417 18.1 9.3
401 A2 H]) 2 R oju) 590,970  13.0 379278 95 420,320 9.7 55.8 40.6
402 W 7kR}HE-o] A 29,431 06 22,660 0.6 28,266 0.7 29.9 4.1
403 AR A 52 o] A 1,314,931 28.8 1,250,941 313 1,330,134 30.8 5.1 NN
405 A2 =1 31,837 0.7 12,865 0.3 21,036 05 1475 51.3
406 7] EfAFE ol H - - - -
407 9 A0 A 24 0.0 30 0.0 203 0.0 A20.0 A88.2
500 XM &R} 15,500 0.3 56,200 14 51,800 12 AT24 AT0.1
501 A 1,500 0.0 56200 14 36,200 08 A973 A95.9
502 EAF 14,000 03 . 15,600 0.4 100.0 100.0
600 EF A 2 140,747 3.1 141,376 35 157,876 37 A04 A108
601 Q) +Aks 140,747 3.1 141,376 35 157,876 3.7 A0.4 A10.8
700 LHE7HeH 242,370 53 237,348 5.9 258,683 6.0 2.1 AB3
701 71EFS A E 30,031 0.7 29,730 0.7 44,730 1.0 1.0 A329
702 7S AEF 9,568 0.2 9,330 0.2 10,449 0.2 2.6 A84
703 WHH EH I A D EF 158,427 35 162,625 4.1 167,874 3.9 A26 A5.6
705 dlGa A add 36,221 08 35,663 0.9 35,630 08 1.6 1.7
706 71 EFU -7 7] 8,123 0.2 - . .
800 Of|H[H| 27| E} 197,000 43 76,887 1.9 148,052 34 156.2 33.1
801 ofu]n 196,985 43 76,867 19 145,373 34 156.3 355
802 Wk 7] E} 15 0.0 20 0.0 2,679 0.1 A99.4




(EHel - uHabel %

Lq = =7F2 (o
2 = 2015 = T = 201ee i = SErpul Ezémm
Al 4,034,000 HlE 3521100 HIg 3,755,534 HIE 14.6 74
100 2lZiH| 265,394 6.6 252,297 7.2 249,136 6.6 5.2 6.5
101 914w 265,394 6.6 252,297 72 249,136 6.6 5.2 6.5
200 S744| 122,951 3.0 118,225 34 127,117 34 4.0 A33
201 LWk n] 71,805 1.8 67,710 19 74,516 2.0 6.0 A36
202 o]y 11,976 0.3 11,741 0.3 11,883 03 2.0 08
203 Y F-F7H| 3,186 0.1 3,206 0.1 3,212 0.1 A0.6 A0.8
204 A5 7y 16,242 04 16,075 05 15,837 0.4 1.0 26
205 ©] 3] 7] 3,407 0.1 3,549 0.1 3,349 0.1 A40 1.7
206 A 51 8,103 0.2 8,906 0.3 9,981 03 A9.0 A188
207 A7k 8,232 0.2 7,038 0.2 8,339 0.2 17.0 A13
300 ZAto| X 1,578,999 | 39.1 1,417,877 403 1,489,643  39.7 11.4 6.0
301 YR A 17,255 0.4 16,497 05 16,067 0.4 46 74
303 EAF 13,646 03 13,779 0.4 13,598 0.4 A10 0.4
304 A FHas 47,630 1.2 45,694 13 46,202 1.2 42 3.1
305 w5 - - - -
306 AT 16,615 0.4 15,709 0.4 22,944 06 58 A276
307 W1zro] A 110,365 2.7 95,674 2.7 105,755 2.8 15.4 4.4
308 AFA| A 5o A 1,365,363 3338 1222425 347 1,276,677 340 1.7 6.9
309 B719A =S 4 0.0 2 0.0 2 0.0 -
310 &0 A 485 0.0 1,640 0.0 1,802 0.0 AT0.4 AT3.1
311 =} o] Ap4kst 7,636 0.2 6,457 0.2 6,596 0.2 18.3 15.8
400 AHEX|&E 1744714 433 1,446,367 411 1,579,976 42.1 20.6 104
401 A2 u]) 2 R ou) 590,764 146 378992 108 420177 112 55.9 40.6
402 W1 7AR 0] A 29,431 07 22,660 0.6 28,266 08 29.9 4.1
403 AR A 52 o] A 1,092,926 271 1,032,082 293 1,110,599 296 59 A6
405 A2 =1 31,569 08 12,603 0.4 20,731 0.6 150.5 52.3
406 7] EpA}E-0] A - - - -
407 T AR A 24 0.0 30 0.0 203 0.0 A20.0 A88.2
500 XM EX} 15,500 0.4 1,500 0.0 17,100 05 933.3 A94
501 g4 1,500 0.0 1500 00 1,500 0.0 0.0 0.0
502 EAF 14,000 03 . 15,600 0.4 100.0 100.0
600 = XX 2 22,777 0.6 8,077 0.2 24,077 06 182.0 A54
601 2] F L9348 22,777 06 8,077 0.2 24,077 0.6 182.0 A5.4
700 L 7HeH 238,325 59 236,446 6.7 241,902 6.4 0.8 al5
701 71EFS] A E 30,031 0.7 29,730 0.8 29,730 08 1.0 1.0
702 7lHAES 9,568 0.2 9,330 0.3 10,449 0.3 2.6 A84
703 WHH EHI AN EF 154,382 38 161,723 46 166,093 4.4 AdS5 AT1
705 drEdE =St 36,221 0.9 35,663 1.0 35,630 0.9 16 17
706 7] EFU 57 7 8,123 0.2 - ; . .
800 Of|H[H| 27| E} 45,340 1.1 40,311 1.1 26,583 0.7 12.5 70.6
801 ofu]n 45,340 1.1 40,311 1.1 23,924 06 12.5 89.5
802 Wk 7] E} - - 2,659 0.1 A100.0




3. M=olat =2

Q SE3IA

(EHel - uHakel %
Lq = =7F2 (o

T = 2015H = g = 2as z & gijucllgzl/;.;mul
Al 524880 HIS 475444 HI B 557,389  HIg 10.4 A58
100 2l Z4H| 4,965 0.9 4,857 1.0 4,809 0.9 2.2 32
101 2171 4,965 0.9 4,857 1.0 4,809 0.9 2.2 32
200 S| 3,663 0.7 3,554 0.7 3,561 06 3.1 2.9
201 dnkEodn] 3,206 0.6 3,078 0.6 3,089 0.6 4.2 3.8
202 o] 135 0.0 140 0.0 136 0.0 A36 A0.7
203 FHF-F31H] 59 0.0 59 0.0 59 0.0 0.0 0.0
204 AR 146 0.0 149 0.0 149 0.0 A2.0 A2.0
205 <] 3] n] - - - -
206 A 1] 14 0.0 9 0.0 9 0.0 55.6 55.6
207 AT R 103 0.0 119 0.0 119 0.0 A13.4 A134
300 Z4to| ™ 20,098 38 22,149 4.7 22,287 4.0 A9.3 A98
301 AR A= 912 0.2 890 0.2 1,017 0.2 2.5 A10.3
303 ¥AF 43 0.0 43 0.0 43 0.0 0.0 0.0
304 AEHHEE 149 0.0 143 0.0 143 0.0 4.2 42
305 w5 - - - -
306 A - - - -
307 W1zko] A 160 0.0 160 0.0 160 0.0 0.0 0.0
308 AFA|HA S o] A 3,202 06 3,266 0.7 3,227 0.6 A2.0 A08
309 379 B8HAET - - - -
310 =r&jo]x - - - - -
311 A} Fol A3t 15,632 3.0 17,647 3.7 17,697 3.2 Al14 Al17
400 AHEX| & 222479 424 219407 46.1 219,983 395 1.4 1.1
401 A M) 2 E o H] 206 0.0 286 0.1 143 0.0 A28.0 441
402 NZEARE01 A - - - - - - -
403 A A A S AF o] A 222,005 423 218,859  46.0 219535 394 1.4 1.1
405 A 51 268 0.1 262 0.1 305 0.1 2.3 A12.1
406 7] EfA}E 0] - - - - -
407 =] Aol H - - - - - -
500 SAt &} - 54,700 115 34,700 62| 41000  A100.0
501 §AF - 54700 115 34,700 6.2 a100.0 | A100.0
502 EAF - - - - - - -
600 EM A 2 117,970 225 133,299 280 133,799 240 A115 A11.8
601 At =L =733 117970 225 133299 280 133,799  24.0 A5 A11.8
700 LS 7Y 4,045 0.8 902 0.2 16,781 3.0 348 4 A75.9
701 71EFS A== - - 15,000 2.7 -
702 N1FHES - - - -
703 WEHSEI A EF 4,045 0.8 902 0.2 1,781 0.3 348.44789 127.1
705 ol a e =t s - - - -
800 oflH[H| 27| E} 151,660  28.9 36,576 7.7 121,469 218 3146 249
801 of|H] A 151,645 289 36,556 7.7 121449 218 314.8 24.9
802 Wk 7| e} 15 0.0 20 0.0 20 0.0 -




3. M=olat =2

[ ZIEFSE (A ]

(Stel - el %)
L4 = =7t2 (o

T 2015 = T ] wE GEa | st

H 254,608 HIS 246379 HIS 248495 HlS 33 25

100 2lz4H| 4,965 2.0 4,857 2.0 4,809 19 2.2 32
101 21714 4,965 2.0 4,857 2.0 4,809 1.9 22 32
200 274H| 3,621 1.4 3,509 14 3,520 1.4 32 2.9
201 dukEg] 3,179 1.2 3,050 1.2 3,061 1.2 4.2 3.9
202 o1 130 0.1 133 0.1 133 0.1 A23 A23
203 Q-7 49 0.0 49 0.0 49 0.0 0.0 0.0
204 28 ) 146 0.1 149 0.1 149 0.1 A2.0 A2.0
205 ©] 3] H] - - - -
206 A 51 14 0.0 9 0.0 9 0.0 55.6 55.6
207 A7)k 103 0.0 119 0.0 119 0.0 A134 A13.4
300 Z4to| X 4,466 1.8 4,502 1.8 4,590 1.8 A08 27
301 ukHAFE 912 04 890 0.4 1,017 0.4 25 A10.3
303 ¥AF 43 0.0 43 0.0 43 0.0 0.0 0.0
304 AeHHES 149 0.1 143 0.1 143 0.1 42 42
305 Wl da% - - - -
306 =97 - - - -
307 W 7keo] A 160 0.1 160 0.1 160 0.1 0.0 0.0
308 2} e S0 A 3,202 1.3 3,266 13 3,227 1.3 220 A0.8
309 B71FA =S - - - -
310 =r¢jold - - - -
311 A9} o] A 8 - - : :
400 AHEX| = 222479 874 219,407 | 89.1 219,983 885 1.4 1.1
401 A2 u) 2 R ou) 206 0.1 286 0.1 143 0.1 A28.0 441
402 RIZkAHE 0] - ) '
403 X GA S A} o] A 222005 872 218859 888 219535 883 14 1.1
405 A2k S 268 0.1 262 0.1 305 0.1 2.3 A12.1
406 71 EpA}E 0] A - - - -
407 =] A Eo] 7 - - - -
500 Xt =X} - - - - -
501 §A - - - -
502 A - - - -
600 EX XY - - . : i
601 A==t - - - -
700 L7424 4,045 1.6 902 0.4 1,781 0.7 0.0 0.0
701 71EbS| A =S - - - -
702 NEAEF - - - -
703 WHH EHI AN EF 4,045 1.6 902 0.4 1,781 0.7 -
705 dFEdE =Yt - - - -
800 of|H|H| 7| E} 15,032 59 13,202 54 13,812 56 13.9 8.8
801 ofu]H] 15,017 59 13,182 5.4 13,792 56 13.9 8.9
802 Wk 7] E} 15 0.0 20 0.0 20 0.0 -




[ S7ILEE3A ]

?.

AT

20154

20144

g =

x =
= =

Al

270,272

Hl=

229,065

=lk=

308,894

100 oIzt

101 Q17H]

200 =714|

42

0.0

45

0.0

41

201 L83
202 o]

203 JHF-Fxv]
204 A -5=3Y7dm]
205 <] 3] n]

206 A =51

207 A7)

27

0.0
0.0
0.0

28
7
10

0.0
0.0
0.0

28

10

300 Z&to| &

5.8

7.7

17,697

Al14

301 AWrR =

311 A} ol A3k

5.8

1.7

17,697

A4

400 A=A &=
401 AW S5 T )
402 W1ZEAHE o]
403 ARA S A 5 A o] A
405 AFFF S
406 71 AR o] A
407 =] AHEo)

500 SAtH &}
501 &Ab+

54,700 |

54,700

23.9
23.9

34,700
34,700

A100.0
A100.0

502 EA+

0.0

600 2R 2

117,970

43.6

133,299

58.2

133,799

A11.5

601 2wk

117,970

43.6

133,299

58.2

133,799

A115

700 LH £ 2}

15,000

702 715 E
703 WU E
705 dga=9
706 7] ERUF-A

15,000

800 oile|H[ L T|Ef

136,628

50.6

23,374

10.2

107,657

34.9

484.5

26.9

801 eljuln]
802 WHet=7] e}

136,628

50.6

23,374

10.2

107,657

34.9

484.5

26.9






